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This question is to be answered after watching the video.
The industrial revolution was a turning point in history because:

INTRODUCTION 

When did it occur

Where (in what country)

What kind of lifestyle existed

Why did the I.R happen


SACK OF CAUSES-FOUR CAUSES OF THE INDUSTRIAL REVOLUTION

CAUSE #1 IMPROVEMENTS TO THE FARMING PROCESS
New technological advancements led to more efficient ways of farming and producing food.

· What inventions were created that assisted farming?



· What effect did these new inventions have on English society? 




· Enclosure movement:






CAUSE #2 GEOGRAPHY
The geography of England produced an abundance of natural resources needed to fuel the Industrial Revolution.

NATURAL RESOURCES

The three natural resources England had was:
-
-
-

Coal was a valuable commodity because:




WATER

The importance of rivers during the I.R.



CAUSE #3 MONEY
The ability to trade with other countries brought a lot of money into England which helped to support the development of the Industrial Revolution.

What is infrastructure:



How did England get the money to build the infrastructure-








CAUSE #4 TECHNOLOGY/EDUCATION/ENERGY
England had a lot of colleges and universities which led to a larger population of intelligent people.  

How did this population of people help support the Industrial Revolution?





SACK OF EFFECTS-THE EFFECTS OF THE INDUSTRIAL REVOLUTION

EFFECT #1 MASS PRODUCTION OF GOODS

The ability to produce goods in large quantities made life easier for all people.
Also it is cheaper to produce goods in large quantities.

What is the law of supply and demand?


How did mass production of goods benefit society?



EFFECT #2 NEW BUSINESS MODEL EMERGES

Companies competed to control all the means of production.


How did the business model change as a result of the Industrial Revolution?





What is the danger of this model?



Laissez Faire-


How did Laissez Faire impact business during the Industrial Revolution?








EFFECT #3 NEW SOCIAL STRUCTURE
A new social structure evolved as a result of the shift in economic structure. Four new classes emerged-The Business elite, the upper middle class, the lower middle class and the working the class.

Big Business Elite-


Upper Middle Class-



Lower Middle Class-


Working Class-











EFFECT #4 URBANIZATION
Large numbers of people moved from the country and into the cities.  The cities had to adapt to accommodate the large quantities of people.

List the positive and negative aspects of urbanization during the Industrial Revolution

	POSITIVES
	NEGATIVES

	
	

	
	

	
	

	
	

	
	



